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Note : Aﬁswets may be written eifher-in English or in Hi_hdi; but the same medium should be
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used throughout the paper
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1. Aegls Consuitmg isa well established company in Indla w1th its head office in Bangalore It
is mvolved in soﬂware development products and services. Ae.gls plans to expand 1ts business
operatlons for which it needs to recruit staff for-the proposed locatlons in major metro cities. ‘

i plans to'go on a recruument drive for hmng the following :°

(a) . Vloe;PrGSIdent-fOperanons i o
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(h) 15 Trainee Engineers
(¢) 10 Administrative Staff

(d)y 2 Chartered Accountants.

As the HR manager of Aegis Consulting discuss the various sources of recruitment you would

like to choose for the recruitment of the above mentioned positions. justifying your choice for

choosing these methods. 12
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What are the components of compensation ? Explain the steps in determining pay

rates. 3+7=10
g & i A & 7 A & i T g S T A # wen
I |

Touch Communication bases its employees annual pay raises on how wgl] they perform their
job duties. For the paé.t many yga;rs the ratings have hovered around 10% of the basic pay.

Through a survey cohducted by the HR it was realized that employees did not see a connection

with pay and perfo,m’iﬁn_ce. Majority of the workers were.given an excellent rating by their

- supervisors, consequently there was not much difference in the merit raises awarded to the

employeles. The Ge’.ﬁeral Managér, HR felt the superv_isbrs- were not doing justice to their task
vof. appmismg their _e‘n.lployees‘ o_bjgctiyely. As'a result a new system for rapprais.ing performance
was -devéloped under Wthh the supewisérs ‘had to disujbut§ the é,mplqyees in Var.io.us. catggoxjgs
based on tﬁeir-performance ratings. fhe topl 10% got “excellent’, the next 20% got “very goqd", ‘
next 35% got ‘saiisfa‘:‘tc)ry’ and the iowes£ 10% got ‘uns#ﬁs_factory’. -

: -Afte_-r. the sy-s‘terh was put in place there was even greater resentment téwgrds the'=_$upervisors
and allegations of faV-.OLlI'iﬁS;ﬂV by the ellnplf_‘))'/e'esf The'_empfdfees coul__dﬁoi_ understand why their
pe'rfonnéhce'had' féllé_ﬁ suddently. - ‘ :

R TO.
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Questions

(a) Identify the problems in the appraisal method originally adopted by the Ce. ? Is the

management’s decision to install the new procedure appropriate ? 6

(b) Whal can the managément do to addréss the problem ? 6 '
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(b) A middle-aged lady joins back into workmg li
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(a)aummﬁamw@%faﬁwummm%?

XYZ Limited wants 20% less employees in the next three years because of several technological |

chagnes. What will be the role of HRM and howwﬂl it implement this change ¢ - 10
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(a) Cisco Enterprrses isa tool manufacturmg unit which has recently hired sales managers

=%
plans to organize trammg programs for these 1ncumbents

6

and tool room techmclans It

Which training methods can it use for training these employees ?

fe after a gap of fifteen years after her

' ch1ldren have grown up. Although a management graduate from an A grade busmess

- school she is unsure if she can perform at the ]Ob with her rusty knowledge and sktlls

He first day at work is’ anythmg but smooth sallmg She. had to ﬁnd her way to the

HR department for fulﬁlhng certain formahttes a.nd then could meet her boss inthe Fmance ;

department only after walti‘ng for a couple of hours. They new soﬁware seemed strange :

~andno one spoke to her at all. By the evenmg,
went wrong at the first day of Work and how

job. As management expert 1dent1fy what
5

would you rectlfy the situation. -

she is ]lttery about continuing W1th the 771
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"'Wr_ltc .shprt .notes_on,.lany fbyr:of the following : |
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(e)

Work life balance
lntémationél stﬁffm'g appr&aéhes
Progressive discipline |
: M.a_chin‘eijy for settlement of Industrial Disputes

Technological advances and HRM.
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